Ultimate extinction in the general case



4 1 1 1 4 1 1 1

Recall We have seen $P(extinction) = \lim_{n \to \infty} P(A_n)$, where $A_n = (2_n = 0)$

In addition

 $P(A_n) = P(t_n = 0) = G_n(0) = G^{o(n)}(0)$

Iterated Requence

Call nn = P(tn=0). Then

 $(i) \eta_0 = P(z_0 = 0) = 0$

(ii) $\eta_{n+1} = G(\eta_n)$

 $\frac{\text{Rmk}}{\text{converges}} If a requence <math>\eta_{nn} = G(\eta_n)$

 $\lim_{n \to \infty} \eta_{n+1} = \lim_{n \to \infty} G(\eta_n)$

 $= G(\eta)$

Thus the limit is a nost of

S = G(3)

1>4 G(J)One can pace that 2n is 7to the not n = G(n)anot her Gr(0) 60) $G(0) = P(2, = 0) \in (0, 1)$ $G(1) = 2 P(z_1 = k) = 1$ $G'(1) = E[2,] = \mu$

Rmk One can pare this type of convergence if G is (i) Indeasing (ii) Convex Here (i) $G(s) = E[S^{x_i}]$, with $X_i \ge 0$ => S I-> S^x, zhorealing => SI-> EZJXIJ increasing Also $G'(s) = ET X_1 S^{X_1-1} J \ge 0$ (ii) $G''(s) = E[X_1(x_{i-1}) s^{x_{i-2}}] \ge 0$ => G convex

Proof of Theorem 21 (1)

Ultimate extinction: Recall that we have set

A = (Ultimate extinction occurs)

Then

$$A = \bigcup_{n \ge 1} A_n$$
, with $A_n = (Z_n = 0)$

 $\mathbf{P}(A)$ as a limit: We have $A_n \subset A_{n+1}$. Thus

 $\eta_n \equiv \mathbf{P}(A_n)$ is \nearrow , and $\mathbf{P}(A) = \lim_{n \to \infty} \eta_n$

A TEN A TEN

Proof of Theorem 21 (2) Claim when $\mu > 1$:

 $G(0)\in [0,1)$, $G'(0)\in [0,1)$, G'(1)>1 , G convex on [0,1]



Samy T. (Purdue)

Proof of Theorem 21 (3) Claim $G(0) \in [0, 1)$: We have $G(0) = \mathbf{P}(Z_1 = 0) < 1$ (otherwise trivial extinction) Claim $G'(0) \in [0,1)$: Write $G'(0) = \mathbf{P}(Z_1 = 1) < 1$ (or trivial offspring = 1) Claim G'(1) > 1: One argues $G'(1) = \mu > 1$ Claim G convex on [0,1]: We compute $G''(s) = \mathbf{E} \left[Z_1(Z_1 - 1)s^{Z_1 - 2} \right] \ge 0$

Proof of Theorem 21 (4)

Conclusion: Follows classical lines for sequences

$$\eta_{n+1} = G(\eta_n) \implies \lim_{n \to \infty} \eta_n = \eta$$

э

< □ > < 同 >